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1. Select the most appropriate meaning of the following idiom.
Be on a high alert

(A) Be known widely for your actions

(B) Be watchful and ready to take action

(C) Be very much in demand for something

(D) Likely to face problems due to a wrong action

Answer: b
2. Parts of the given sentence have been given as options. One of them contains a spelling error. Select the option that rectifies the

error.
According to a study by BBC across 66 different sports, five out of every six sports now give equal prize money to men and women at
the world champonship level.

(A) championship
(B) akcross

(C) wumen

(D) diferent

Answer: a
3. Select the most appropriate synonym of the given word.

Cordial

(A) Brave

(B) Unfriendly
(C) Aromatic
(D) Friendly

Answer: d
4. ' Parts of the following sentence have been given as options. One of them may contain an error. Select the part that contains the

error from the given options. If you don’t find any error, mark ‘No error’ as your answer.
How foolish | was to have believe that young woman!

(A) How foolish | was
(B) to have believe

(C) that young woman
(D) No error

Answer: b
5. Select the correct passive form of the given sentence.

Somebody has already tipped the custom authorities about the drugs.

(A) Custom authorities have already tipped someone about the drugs.
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(B) Custom authorities have already been tipped about the drugs.

(C) Custom authorities have already been tipped by the drugs.

(D) Custom authorities were already tipped about the drugs.

Answer: B
6. The following sentence has been split into four segments. Identify the segment that contains a grammatical error.

He often / persists to ask / awkward questions / at the board meetings.
(A) He often
(B) persists to ask
(C) awkward questions

(D) at the board meetings

Answer: B
7. Select the most appropriate meaning of the given idiom.
Be an open book
(A) One about whom it is easy to know everything
(B) One who is fond of reading even when travelling
(C) One who advises others to be frank and unsecretive
(D) One who has written an examination without prepatation

Answer: A
8.  Select the option that will improve the underlined part of the given sentence. In case no improvements is needed, select ‘No

improvement required.’

The community members as well as teachers are presently into the bus station.

(A) Is present at

(B) No improvement required
(C) are presently on

(D) are present at

Answer: D
9. Select the most appropriate option to fill in the blank.

| am not going to buy ----- toys for you.
(A) These
(B) this
(C) they
(D) them
Answer: A

10. Select the most appropriate option to substitute the underlined segment in the given sentence.

I wish | have a motorbike ; | can’t depend on the bus to reach my office on time.

(A) might have
(B) had



(C) didn’t have

(D) don’t have

Answer: B
11. Select the option that expresses the given sentence in reported speech.

“Where did the children leave their record books?” the sports coach asked the class prefect.
(A) The sports coach asked the class prefect where the children are leaving their record books.
(B) The sports coach asked the class prefect where have the children left their record books.
(C) The sports coach asked the class prefect where the children had left their record books.

(D) the sports coach asked the class prefect where the children leave their record books.

Answer: 3
12. Select the option that can be used as a one- word substitute for the group of words.

Relating to solders or war
(A) Marital
(B) Official
(C) Political

(D) Martial

Answer: D
13. Choose the word that means the same as the given word.
Edacious
(A) Gluttonous
(B) Solvent
(C) Ssatiated
(D) Insolvent

Answer: a
14. Select the option that can be used as a one-word substitute for the given group of words.

Something to be easily carried or moved

(A) Robust
(B) Fragile
(C) Stagnant
(D) Portable

Answer: d
15. Select the INCORRECTLY spelt word.

(A) Drastic
(B) Surrugocy
(C) Cryptic
(D) Obdurate

Answer: b
16. Fillin the blank with an appropriate option.



We are the creative force of our life, and through our own decisions rather than our conditions, if we carefully learn to do certain
things, we can those goals.

(A) reverberate
(B) accomplish
(C) torment
(D) expel

Answer: B
17. Select the most appropriate sequence from the given options to make a meaningful paragraph from jumbled sentences.
A. On Saturday the 10th, Typhoon Lekima made land fall in China’s Zhejiang province.

B. This province is often hit with typhoons, but this storm was its strongest ever.
C. The typhoon brought winds of up to 116mph, and floods affected almost 5 million people.

D. more than 1 million people were evacuated from their homes.

(A) ABCD
(B) BDCA
(C) ADBC
(D) CBAD
Answer: A
18. Pick a word opposite in meaning to
Swindle
(A) Insert
(B) Dupe
(C) Ample
(D) Honesty
Answer: D
19. Teachers worldwide are stuck in a constant balancing 1 between individual liberty and
occupational obligations. The Indian teacheris ___ 2 stuck in tremendous technological, political and
sociocultural changes, which are having 3 impact on performance and lifestyle. It goes without
saying that teachers in India need to redefine and adjust their 4 to develop transformational
and humane skills by helping bridge the deep-rooted 5 distance between the teacher and the
taught.

select the most appropriate option for blank no.2

(A) act

(B) acts

(C) acting

(D) actor

Answer: A

20. Teachers worldwide are stuck in a constant balancing ___ 1 between individual liberty and

occupational obligations. The Indian teacheris . 2 stuck in tremendous technological, political and
sociocultural changes, which are having 3. impact on performance and lifestyle. It goes without
saying that teachers in India need to redefine and adjust their 4 to develop transformational
and humane skills by helping bridge the deep-rooted 5 distance between the teacher and the
taught.

select the most appropriate option for blank no.2
(A) also
(B) too
(c) all



(D) very

Answer: A
21. Teachers worldwide are stuck in a constant balancing ___ 1 between individual liberty and
occupational obligations. The Indian teacher is 2 stuck in tremendous technological, political and
sociocultural changes, which are having 3 impact on performance and lifestyle. It goes without
saying that teachers in India need to redefine and adjust their 4 to develop transformational
and humane skills by helping bridge the deep-rooted 5 distance between the teacher and the

taught.

select the most appropriate option for blank no.3

(A) a

(8) the

(C) an

(D) one

Answer: C

22. Teachers worldwide are stuck in a constant balancing ___ 1 between individual liberty and

occupational obligations. The Indian teacher is 2 stuck in tremendous technological, political and
sociocultural changes, which are having 3 impact on performance and lifestyle. It goes without
saying that teachers in India need to redefine and adjust their 4 to develop transformational
and humane skills by helping bridge the deep-rooted 5 distance between the teacher and the

taught.

select the most appropriate option for blank no.4

(A) think

(B) thoughtful

(C) thought

(D) thinking

Answer: D

23. Teachers worldwide are stuck in a constant balancing 1 between individual liberty and

occupational obligations. The Indian teacheris ___ 2 stuck in tremendous technological, political and
sociocultural changes, which are having 3 impact on performance and lifestyle. It goes without
saying that teachers in India need to redefine and adjust their 4 to develop transformational
and humane skills by helping bridge the deep-rooted 5 distance between the teacher and the

taught.
select the most appropriate option for blank no.5
(A) psychology
(B) psychological
(C) psychologically
(D) psychologise

Answer: B
24. Given below are four sentences in jumbled order. Pick the option that gives their

correct order.

A. Then | went up the steps to apartment number 17D.
B. | strode along the pavement hurriedly and crossed the road.
C. The hall was empty and there was no sign of anyone having entered before me.
D. | opened the door with my key and went in.
(A) BADC



(8) BCDA
(C) CDAB

(D) DBCA

Answer: a
25. Select the most appropriate ANTONYM of the given word

Comely

(A) Grandiloquent
(B) Grotesque
(C) Gregarious
(D) Gorgeous

Answer: B
26. Zarar g BaEl dBl TSl wal bt aTg @

(A) BRTFIZ
(B) epyzercer
(C) <prevemar
(D) doreilE

Answer: B
27. URE sieifde 2024 § AT 6T 50 Hiex Tswar 3 € wvet § @i FEI A HF-97 T80 SHar?
(A) Tt
(B) T&Iq
(C) Fex

(D) TH & FIE T

Answer: C
28. WA TeW e O F1 e Fi o e o w82
(A) fax wgamT

(B) U<t 3

(C) drefiuw srewoT
(D) AW i

Answer: D
29. BT HA A FewaTd I FH e Fer gy Avhe BT @2
(A) T=TIST

(B) ¥
(C) TrfRET
(D) T

Answer: b
30. BT &l § e T I At gy g e | WK #7 YA mie
(A) Stfia ST

(B) It ey
(C) oy g
(D) TH. STAAHFT

Answer: a



31. SATRET A T & H G Y GLAT TREG A 6T 9T &l TH ST T & T § AT I 3 TH T B AFA 6 (¢ 9 Sl
ITRE &1 SHAATT 64T B2
(A) TT=EIH

BESKER
(c) frfer=te
(D) A

Answer:
32. Wﬁ@Wwwmwﬁqﬁﬁqﬁé?
(A) Tfer

(B) S =T

(C) SiaThfeHT

(D) ZAT

Answer: c
33. gl qoed A Rrserar & ve T & T A o F dfAaET F @ w9 F 7 7 feer sk
argary & Jf-Rarst A qeara

(A) ST

(B) enfiA=+
(C) 3reTed
(D) uRER®

Answer: c

34. fArfaf@d & § FiF-A1 Ideifad Tdl FT TH 3EEIT &2

(A) g HT TE
(B) fe#eTe

(C) gddt w1 fAATOr
(D) 9gel

Answer: ()

35. HASTIEAT & TP YATE & W Alsd & Gau ¥ ewfaf@a F T ST a0 F99 3897 22
i. GHE 3YNNT FAET 49 @ 30F @ar 2
ii. A TIHRT gEAAT T §
iii. 8 AT g ¥ @y B cAaReE afafafer ad ad ¥
(A) ad iii
(B) haer i3\ iii
(C) Faer ii 3T iii
(D) &ad i

Answer: d
36. 1987, AETE GART-— & WY TH v Rud whamer o fhar arm o1, fores 3R 9X 500 Fad Werar WHgh

(SHGs) 1 dFT ¥ Fizx & AT T IIde NFe dled FaT TAT 47|



(A) fARTST (MYRADA)

(B) HIUHIRAT (PFRDA)

(C) 3YST (IREDA)
(D) UTHTHITS (AMFI)

Answer: A

37. famafaf@a & @ @9 & 9Rgy W a5s ¢
(A) U THON
(B) faemaa @t
(C) ol et
(D) e FAR

Answer: C

38. HAMMETH  _ 0 SYANT AT ST g
(A)  TETHIT QiR Tty
(B) ST TIARF Tl
(Q) T TTRF eftt
(D)  FrEIAT qrafE st

Answer: D
39. ‘A T (My Story) BFa AfRem Af@®r it scAwYT &2
(A)  wfasm ¥
(B) HHAT A
() Jrge St
(D) 3memqur

Answer: b

40. farafaf@a & @ i @1 o darer &2

(A) arearFT (Volvox)

(B) A (Sargassum)

(C) a@fﬂw (Ulothnx)

(D) FAATSATH (Chlamydomonas )

Answer: B
41. @& IR T & I T AR dTelT AqET IF ¥l IE T A T § S FaAleH H IR A1 ¥ I§ AET T A

Felles & HiFa TS AR HagF q@rr suAer frar Jrar g

(A) arIfsT



(8) Fear
(c) dom
(D) dedr

Answer: D

42. UHUH THS 2010 F Gg § Toq fAsheq F1 997 A |

(A) THUE THIA 2010 H, Ctri+H FT ITFT &fie 6 Hiax 2o 1 Taemid (Replace) F3  forw foram st 81

(B) THUH TFH 2010 H, Raw o< & §¥ &1 (home tab) & T&= Sifere ST g ST 9o F1e Bid & st o it siie e
FLAT, TS FLAT AT Fhea< AT, AT FLAT i

(C) THUH TS 2010 H, Ctrl+R FT ITT £fiT # Toee &l TAeATiT (Replace) 4 %

(D) Alt+Enter STIEHE FS(T (key) T STINT THUH T 201 | fret AW a1 a1t e &
T 3T SITaT 81 T S e TieE S F e R smar )

Answer: C
43. wRa & dfeu ¥ fean srgqfdr 27

(A) 11
(B) 14
() 12
(D) 13

Answer: C
44, AR T IE R @ rfaRad § 9§ 5 w3 § Rerd 77?

(A) dfierrg
(B) vl
(C) aifsem
(D) PAC®H

Answer: D
45. #, 33T GaRT A W F WeF WY ol N & wE A
(A) 1814

(B) 1809
(C) 1801

(D) 1828

Answer: C

46. MSE cel365 H fAFfaf@d & ¥ 7AW Ache FT &1 AT [FH) TFAT I (selected range) F FH FIL AT
(cell) F FEE (content) 3 BIHT (format) BT AT & AT A S I F fow Far Far &2

(A) Alt+D

(B) Alt+C
(C) Ctri+C
(D) Ctrl+D



Answer: D

47. T (Leap) T TRITH fAwrferieaa & & fradr deifea &2

(A) HELH

(B) AN

(c) Tt

D) fRex
Answer: C

48. AT 9% 9 ffeer e it TorEsr & o av swrr [ 972

(A) 1932
(B) 1945
(C) 1941
(D) 1939

Answer: c

49, mﬁmwmﬁmﬁﬁaﬁ#m'\*mﬁgmm?

(A) ek

(B) IeoteT

(C) wiea
(D) HORT

Answer: a

50. ‘fBaer orsg &1 yAWT fArAfaf@d # @ Fw @a & fhar Smar 82

(A) A

(B) asfAe
(C) STERedTe
(D) SFETH

Answer: C
51. smfa K, L, M, N, O, P, Q3R R, ¥1 &9 # T& JaTHR 3ol & uRd: armad fazm

# B B oI TG YD TP qE G F h W 48 | AR M <Ro—araw e § do1
2, < P frw e 4 da1 27

(A) =faror

(B) =R

(C) SwR-gd

(D) qd

Answer: D



52. &4 <1 fUe=i & o # 9ga W) fear T FHiaRor 8 Se?

48 ~ 12+42-24x3=34

(A) o+
(B) + 3k X

(C) ~ e+

(D) iR

Answer: A
53. <9 fweu smafa &1 999 o), &1 e snafa—aoh # gearesd feT (7) @ e W)

S

M

(A)
(B)
(C)



(D)

Answer: C
54. afe f&=f @ g w3, NUISANCE @1 134 % %u # 3ik ERASURE &1 106
% w9 A gedg a1 o 8, @1 S @e 9w § PHILLIPS @1 6w w9 4 feag
farar Smem?
(A) 115
(B) 99
(@] 119
(D) 95

Answer: C

55. 38 RAwer smpfa # 9w Ged & 7 sngfa Aka 81 (goter & sqafa @t @)

=

(A)

(B)

]

Answer: D
56. f&a T TRt &1 wiF WRER daol I feaT T GHiexer 9l 8l Sie?

78 +~ 48 X8+ (26 X 7) — 39 + (45 + 15) = 210

"% |
v
!ﬁd




(A) 45 aix 48
(B) 48 sk 39
(C) 26 sk 15
(D) 78 aix 45

Answer: b

57. 5w Rees & Mwfaf@a asal &1 a5 4 ar 11 §, 5w 7 F 3 339 g & 3
gl
1 Broken 2 Bread
3 Bridge
4 Bride
5 Broom
(A) 2,4,3,1,5
(B) 4,5,2,1,3
(C) 2,4,51,3

(D) 4,2,3,51

Answer: a

58. P Y 991 ASH—HM THE H ¢ MR FB 9ed AP THE X ¢ | Frpd [S 953 Adde wHE @ 9
A HY T Bxd 2| [ B 998 AP THE TE BRI Uy, I ATSH—H THT BN B |

(A)  @ad | s fafga 21
(B) ®aa Il frsad fafea 21
(C)  Taix Il fspd fafea &

(D) lar & | &g A fFrsed fafea == 21

Answer: C

59. R v Yoot #1 euES A I AN 3W WEAT FT TS W, AN WA A e (?) & TS W 30 Al F

12 4 11 33
13 s 38
14 7 10
18 ? 2 9

(A) 4

(B) 3

(C) 5

(D) 8

Answer: a



60. Wﬁﬁﬁ?ﬁﬁ%g@ﬁﬁg@ﬁm#m,

F1 AT & Fa1 Geyw § ?
(A) AT
(B) W
(C) &TelY

(D) &T

Answer: B

61. fafFaf@a doft & amet smareh Fear 1 9397 R
6, 9, 13, 21, 38, 71, ?
() 129
(B) 121
(c) 101
(D) 99

Answer: A
62. I9 UG — TH I WA B W T A& B o ¢ |
wfl SN
(A) 7l - g
(B) faceh : facirer
(C) Wit : fa
(D) =g : digl

Answer: D

“38% Rar # Af Feltar A golt A qge1 A A ¢ | gohar

63. 3wl & 39 WAl F gAv A & 7% Awer F RFa vyt A FAF w0 § @R W s@er @ g seaft

_msk _prm _kt_r_s_tpr_skt_

(A) rt,s,p,m,m,m,p
(B) r,t,s,p,mk,m,p
(C) rt,sp,m,k, kp

(D) r,st,p, m, k.mp

Answer: B

64.  3IreTiAHT, MuTe, fead, g, Avs IR shive v et 9fFa F 3O Rar 3R 37w v 83 §) foreaa,
MU F ¢ T A §1 4SS, Intaw 3R Alug F S @i 7 31 slivg G0 OR & qE T W § e sk aaah
¥ dfg 9r dr 33 §1 I e SR sieg araw 7 e wuTe gee A € At gt 3R A ¥ S i 7 Fla dor

ghem?

(A) sige
(B) 3TATIAHT
(C) foemer

(D) 9ISl

Answer: D

65. 3% RFeT 71 9T St gEdt ¥Ewr ¥ T 36 E wafa § O avg e s 9 gea @ w6@fa § ek

qradl &A1 S8 &A1 ¥ AT gl
?:225::9:169: 12:256
(A) 16



(B) 15
(€) 11
(D) 13

Answer: C

66. wmaﬁmﬂmmwﬁmma’rﬁw&|,||mw%|mﬁa#wma§c,ﬂﬁ€ramw
¥ 7 aet ¥ BT vella o o, ol 3 B #la @R Pead wuet @ arfde w9 @ SeEter Far § /A S
gl

$hYol:

wsft et R ¥l Fo iR s €

it SR $ATeTeR §

forsay:

| @t sl frdrex E1 1. F5 BFFex $aerer B

(A)  Faer fsEwE 1 IeTEIOT FIAT B

(8) foswd | 3R 11 A FrgEROr F
(C) &ae fsed | 3FTERoT FT B

(D) & @ forsae | 3kt & & 1 rTEIT FH@T T

Answer: D

A vF g Y 3 RyfAt & 7€ | K A FAF F HHeA BAPI T FAT 3T THhdT &2

® §

(A) AR H
(8) B3X A
() H3X B
(D) H3R T

Answer: B

68. frafaf@a fFwedt # ¥ 37 Ffa F1 T9a AT N NRAaEs Rew (2) F gfarna Fa
wmmﬂzﬁaﬁwml

OeT20/e0T0207T0 2B|TOO B 2 'P

OT O 28

(A)




OBT 2 0O

(B)

Oos 2T

(€)

2 T[OO B

(D)

Answer: C
69. ua ff’=q g 9T #, ‘GROUP’ @1 ‘415202613 @ wU # Sifsd fhar Simar 2, &k

‘SOUND’ &1 ‘162026111’ & wu & sifed fbar rar 2 | S a1 § ‘FRESH’ &1
5 wu o wifsd fear smo?

(A) 35110651
(B) 30151651
(C) 31051165
(D) 31510165

Answer: D
70. 3T fadew &1 @ T B |

(A) RI
(B) LP
(C) PK

(D) HS

Answer: b

71. & 7§ nFfa # fraw aqe &2

(A) 13



(B) 11
(C) 14
(D) 12

Answer: D

72. 3 UE SO FY X@ AB T @ IC, A § 7§ Rwew wfadl F @ -t gy wed sy F71 wd vk
grafe

Lih
H:

(A)

Answer: B

73. fuw av weg-gaaAt &, ugen Usg q@Y Ueg @ Rt @ aF @ wefta ¢ Rv v oAt F1 cAeqEw eI
ffor 3k Re 7w AFedt & 39 77 A v N Fa7@ aF F AR L



Q@ : HreT
(A) TWE : AT
(B) Wfel=R : AFA
(C) el: IS
(D) FARE Fer

Answer: B

74. 3% RFew H gfAv Y dedt gEar & O 3@ e wERd ¢ W atE deelt v qud e ¥ wafva § sk
el dEar atedht gEw @ @ERa R
5432 : 2345:: 6192 : 1269 :: 7835:?

(A) 3587
(B) 5387
(C) 5378
(D) 3578
Answer: D
75. famfaf@a wea F Ru v Reedt & & w&@fa nrt s giw |
RV:TE :: EL:?
(A) NC
(B) LU
(C) GO
(D) DP
Answer: C
76. maﬁmﬁm#amjmkmsaﬁﬁma;mﬁaﬁmw%l
——
T J K
A 120 50
B 80 60
[ 40 120
D 30 100
E 20 70

L1 =wft 991 # J SORT BR FoT IAEA
L2= & 3uif # k 5O/ SR HA SUEA
(L2-L1) &7 9 T &7

(A) 90

(B) 70

(C) 110

(D) 140

Answer: C

77. Tl o WEEmst & AT F O 1728 B, FafF & M Al FEAIN F UG 32 71 & 7 QA FEAB F A

FT IHT AT AT |
(A) 260
(B) 512
(C) 640
(D) 576



Answer:

78. 242.6x2 g 7 wa T
_
w 8
_9
® 8
_ 1
o 12
_1
o 3
Answer: A

79. UF GHM TF FaAlT W FAC 50% H T Yald HId! ¢, FTafh q@il gl 30% 3 30% A aF FAWT § JarT
At Bl e e &7 3aw 243 3, @ FAS F qeF AT AT

(A) %3,580
(B) 3,260
(C) %4,300
(D) 3,850

Answer: C

1 1
= : x3 3 .
80. IR (+X )=23 ¥ s@i x>0 &, @ (C  +X7) & AT TG W

(A) 110
(B) 140
(C) -140
(D) -110

Answer: a
8l. UF Wl AR TF fAREd #ed W A IS 25% &1 o FATG §l IR a8 T4 3MH W Rs. 3 3AF 77

AT B, @ 38 40% FT AT NI TF A F FT Hed A Hw
(A) Rs.25
(B) Rs.20
(C) Rs.15
(D) Rs.30

Answer: B
82. A 3k B, I ursy f&0) @rel <l of w9 10 h 3k 16 h & wR Id §1 379 9 96 Bl Uhiak &4 § 1 h & o e 9a ®, U< usy B
BT G ST & | WTell <l fbad 8¢ § ¥R STgT?

142
5

(A)



162
B >
122
=

102
o S

Answer: C

49+/3cm?

83. ffi wwarg Byl &1 e 21 S B3r{St & o & A9E T B |

(A) 18 cm
(B) 14 cm
(C) 12cm

(D) 16 cm

Answer: B

12 1+sing
tanf = — —

84. uf S g 1750 4 am g wiferg
(A) 20
(B) 25
(C) 24

(D) 22

Answer: B
4

85. uw Yamr 45 km/h & a1t & Tt & B 39 5 km @ 53 79 &= # foar awa em?
(A) 64 de
(B) 9 w®s
(C) 36 Jms
(D) 124 dws

Answer: A
86. {0 " @l usel 20% werT ST € SR e § 15% IS Sl €1 $9 Y8 UK 9] o 6T W 64 B & | Al Hol AT A B |
(A) 600
(B) 850
(C) 800
(D) 700

Answer: C

87. P, Q@ R sfia Wk 58 kg 71 afe P 3k Q &7 aiwgd wR 54 kg @ Q &k R @1 3 Wk 48kg & d Q &1 ¥R 1 &Y |
(A) 26 kg



(B) 32 kg
(C) 30 kg
(D) 28 kg

Answer: C
88. 14.5% a@ifffe WrIRer et @ ) W AR @ TS B8 g=Rifd, 6 9§ 9 Rs.13,464
B Ol B | 9w @ T8 g faa off?
(A) Rs.7,600
(B) Rs.70,800
(C) Rs.7,200
(D) Rs.7,450

Answer: Cc
89. ue Wid wR U awgell W 10% @ B (@) <1 7| TR, BieT T § YA

qrel UTEdT BT T oI W 5% 3R gL UGN FAT 2 | R Th dsd Rs.100 @1t

A GG e 2 3R BfST B & AR YA BT § Al UT8h GART b Bl
S arefl gRIfRT (Rs. #) fepaet gnfi?

(A) 92.50

(B) 85.50

(C) 95

(D) 82.50

Answer: B
3x+4y

2x—3v

90. af xaik y fuda freal areh a1 et § ok X2 y?=16:81%, @ BT A R ENT?

27
(A) 40

24
(8) 35

12

48

Answer: B

X Y
=+Z=1
91. W%@Taﬁmwz‘,ﬁ%mq“ 3 P oFEad 87
3

4

(A)



(B)

3
4
4
3

(€)
1
3

(D)

Answer: D

92. wfy fodt urax Aol & usal 15 U<l &I AT 600 TAT AT A=< 5 &l d UgAT U< AT BIT?
(A)
(B)
(Q)
(D)

o W g N

Answer: B

93. afe fadt fgama whiaxor &1 & o ﬁ_ ZET?ITW?T\’“T@TEW?
x?—4x+2=0
X2 —4x—-2=0
x2+4x+1=0

x2—-3x+1=0

(A)
(B)
(€)

(D)

Answer: C

94. A, tw fafaa #1F #1 40 e & @@ F FFaT ¥ B,A ¥ 25% HUF FAA ¥ 3R C,B & 28% foF Fuw ¥ |
T WY A 5 A TF FH Q@ § | FFA B R AV FA A o Rt & qu frar sea |

1
165

(A)

(B)

201
2

(D)

Answer: C
95. faU 7T IR A, he IR TF Sl Y 3T dUT FIAT IR 3YHT AT S2ATAT §| AP FT HeAAST AT 3R 39% a5

T v yea F1 3T S|



2000 2001

2001 & @ arel 3, 5T 9§ & =a¥ & ST A?

(A) 2002
(B) 2004
(C) 2003
(D) 2000

Answer: b

96. A, B3R C @ 2:3:5F equrad A et golt &7 fovder fram| A, B3R C & 4 : 2 : 3 7=t & arequra &

fAaer fFar 8] 3@ C & amr &1 71,47,000 Rear Aoar & S A & R @ 3 &, aY B & o7 &1 e &
(A) 105000
(B) 189000
(C) 168000
(D) 126000

Answer: D
97. secx+tanx=53T cosec y-coty=1/3,al (secx+cosecy)-(tanx-coty) AT AT
(A) 4.2
(B) 2.2
(C) 3.2
(D) 3.1

Answer: C
3cosea2? 5cos32°

98. sec48? sin58%

(A) 5
() -1
(C)o
(D) -2

FT AT AT &2

Answer: D
99. uH fiar o #r Fx ¥ gt 6cm Bl IR W g F =W 20 cm B, @ Brsm 3R ST op Ay FEE = AT FAT g

(A) 20 cm
(B) 26 cm
(C) 18 cm

(D) 16 cm

Answer: B

100.  frerer & mfasmit & ufacdes g A FgT ST gl
(A) 3ea: Feg
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